logL*

85 LABJIND lightness
no CIEDE2000 lightness

log (L*g5/L* g5.0) normallzed LABJND lightness
log (L*g

L85 Lrgg= (/@) IN[ 1 +b (Y/Yy)] L¥/L* g5 no CIELDEZOOO lightness
a=0,3411 t=88,23 t/a=258,6 b=&,=6,14
LABJIND lightness
L* g5,~508 Y,=18 *op=
sh100p U 8847%08 Yu Jio sz @a) {1+ byl
logL* g5 ,=2,7Q m,=0,4: P a=0,3411 (=88,23 /a=258,6 b=&,=6,14
L 1
’
e : L* 65,7508 Y,=18 L.
24100 E N N - 1 M -
‘ ! em—— i0G[(L” g2)/(L* 5,910, my= 043¢ ——
' application application
: range ¢' 1 range
. 0,1 1 10 ,Y,=18100y > 0,1 4 10 "Y,=18100y
- -1 0 1! 2 logY -2 -1 0 1 2 logY
CES40-1A CES40-2A

logAY CIE tristimulus value difference

Ay 10AY sgono @nd AYeiepez000

L* =116 {//Y,)
tristimulus value difference according to CIEDE20@
log(dY)= log( 3 (Y,,/116) ) + (2/3) log{/Y,,)

13 _

log(AY/AY,)  CIE tristimulus value difference
AY normalized toAY,
AvIAY,  for LABIND and CIEDE2000

L* =116 /Y,) 3 - 16
tristimulus value difference according to CIEDE200|
log(dY)= log( 3 (Y/116) ) + (2/3) log{/Y,,)

1410 1410
= log(3(v,//116) + (2/3) logy) = 1og(3(Y,/}/116) + (2/3) logy)
u+= my=
0,86 0,86
ok 1YuS18 0%,2083, (Y/%,)20045 | [, 7028 W0 83 QVIv)m0045
logdY=-0,07, m,=0,81 application logl(@¥Y(dY,)1=0, =08 application
my-=0,85 ~7 » range m,-=0,85 <= range
1 0,1 r 10 |Y =18100y > 1 i 10 'Y,=18100y
- -1 0 1 2 logY -2 -1 0 1 2 logY
CES40-3A CES40-4A
log (AY/Y) CIE Y sensitivity log[(AY1Y) I AYIY),]  CIE Y sensitivity
1OS(,LABJND and S’,CIEDEZOOO normalized to A(Y/Y)u
S=AvYIY S/Su=BYMIAYN), LABIND & CIEDE2000
Y sensitivity according to CIEDE2000 Y sensitivity according to CIEDE2000
log[(dY/Y) = log(3 (Y "3/116) — (1/3) log¢ log (AY/M)/(Y/Y) ] = (-1/3) log(Y/Y,,)
o1 1410
my-=-0,14 application application
~ range range _
-150,1 - ~ 4=
| dY/¥=0,04,m,=-018 7~ N - s Iog[(dY/YL/((dY/YL] 0, m=-0,18 ' -0,13
Y,=18, dY,=0,83, (IY/Y,)=0,045 1 -0,13 Y,=18, dY,=0,83, (IY/Y,)=0,045
. 0,1 1 10 1Y,=18100y > 0,1 1 10 'Y,=18100y
- -1 0 1 2 logY -2 -1 0 1 2 logY
CES40-5A CES40-6A
log (Y/AY) CIE Y contrast log[(Y/AY) I (YIAY),]  CIE Y contrast A
0,1C; LaBanp and C; ciepe2000 normalized to (Y/AY),
C=YIAY " g GoIC=(YIDV)I(YIAY), LABIND& CIEDE2000
Y contrast according to CIEDE2000 Y contrast according to CIEDE2000
log(Y/dY)= log[(1/3) (116¥,)] + (1/3) log (Y/Yy) log[ (YIAY)/(YIAY) ] = (1/3) log(Y/Y),)
1/
Ao = log[(1/3) (116/¢,"3] + (1/3) log () g Lrum50 Y,=18 dv,=0,83
* =50, Y,=18, dY,=0,83, U/dY) 22 L M= L* =50, Y,=18, dY,=0,83, {f/dY,)=22 m .=
u+—
o 1Iog(Y/dYL 1,33 m;=0,18 » 271 013 Iog (Y/dY)/(Y/dY),]=0, m,=0,18 013
L4 1
m,-=0,14 : application 1 application
range 1 range
- 0,1 1 10 1Y,=18100y » 10 'Y,=18100y
- -1 0 1 2 logY -2 -1 0 1 2 logY
CES40-7A CES40-8A

CES40-7N




